
DÜNYA İÇİN ÜRETİYORUZ...

PRODUCE FOR THE WORLD

HALDEX

MARK ... 
 Series



268 OEM numbers names and logos just only used for references

DEEP NUMBER -  3931 			   Caliper Bolt Sealing

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11309 CLIPS 2

2 10033 TAPPET BOOT 67 MM 2

3 11264 SPRING 67 MM 2

OEM NO 89794

DEEP NUMBER -  3932 Caliper Bolt Sealing

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11309 CLIPS 2

2 10032 PLUG MK3 2

3 10035 TAPPET BOOT 78.5 MM 2

4 11265 SPRING 78.5 MM 2

5 10120 PLUG MK2 2

6 10071 ORING MK2 2

OEM NO 87405 7 11209 BOLT MK2 2

DEEP NUMBER -  3933 Caliper Unit Sealing Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11309 CLIPS 2

2 10032 PLUG MK3 2

3 10035 TAPPET BOOT 78.5 MM 2

4 10120 PLUG MK2 2

5 10071 O-RING MK2 2

6 11209 BOLT MK2 2

OEM NO 94663 7 10121 SEAL 2

DEEP NUMBER -  3934 Caliper Unit Sealing Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10033 TAPPET BOOT 67 MM 2

2 10032 PLUG MK3 1

3 11558 CALIPER TAPPET BUSH 2

4 11309 CLIPS 2

OEM NO 94662

HALDEX TYPE

MARK ... Series



269www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3935 Caliper Thrust Plate & Sealing Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10033 TAPPET BOOT 67 MM 2

2 11181 CALIPER CALIBRATION BOLT 2

3 11558 CALIPER TAPPET BUSH 2

4 11688 CALIPER TAPPET PLATE 1

5 11309 CLIPS 2

6 10032 PLUG MK3 1

OEM NO 94664

DEEP NUMBER -  3936 Caliper Seals & Spring Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10033 TAPPET BOOT 67 MM 2

2 10071 O-RING MK2 2

3 11309 CLIPS 2

4 10121 SEAL 2

5 11264 SPRING 67 MM 2

6 11209 BOLT MK2 2

OEM NO 7 10032 PLUG MK3 2

8 10120 PLUG MK2 2

DEEP NUMBER -  3937 Caliper Guides & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10032 PLUG MK3 2

2 11510 PIN CAP Ø 57 / 40 MM 2

3 11508 STEEL CAP 4

4 10034 PIN BOOT 8

5 11031 CALIPER PIN Ø 35 / 70 MM 4

6 11122 PIN BOLT Ø M14 x 2 / 52 MM 4

OEM NO 89541 7 11512 RING 8

8 10080 PLASTIC BUSH 4

DEEP NUMBER -  3938 Caliper Guides & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10034 PIN BOOT 8

2 11510 PIN CAP Ø 57 / 40 MM 2

3 10080 PLASTIC BUSH 4

4 11122 PIN BOLT Ø M14 x 2 / 52 MM 4

5 11512 RING 8

6 10032 PLUG MK3 2

7 11209 BOLT MK2 2

OEM NO 8 10120 PLUG MK2 2

9 10071 O-RING MK2 2

HALDEX TYPE

MARK ... Series



270 OEM numbers names and logos just only used for references

DEEP NUMBER -  3939 Caliper Guides & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10034 PIN BOOT 8

2 10080 PLASTIC BUSH 4

3 11122 PIN BOLT Ø M14 x 2 / 52 MM 4

4 10032 PLUG MK3 2

5 11209 BOLT MK2 2

6 11031 CALIPER PIN Ø 35 / 70 MM 4

OEM NO 87406 7 10071 O-RING MK2 2

8 10120 PLUG MK2 2

9 11512 RING 8

DEEP NUMBER -  3940 Caliper Seals & Caps Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10034 PIN BOOT 8

2 11122 PIN BOLT Ø M14 x 2 / 52 MM 8

3 11510 PIN CAP Ø 57 / 40 MM 2

4 10032 PLUG MK3 1

5 10080 PLASTIC BUSH 4

6 11509 STEEL CAP 4

OEM NO 94661

DEEP NUMBER -  3941 Caliper Seals & Caps Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10034 PIN BOOT 8

2 11512 RING 8

3 11122 PIN BOLT Ø M14 x 2 / 52 MM 8

4 11510 PIN CAP Ø 57 / 40 MM 2

5 10032 PLUG MK3 2

6 10080 PLASTIC BUSH 4

OEM NO 7 11509 STEEL CAP 4

8 10120 PLUG MK2 2

9 10071 O-RING MK2 2

10 11209 BOLT MK2 2

HALDEX TYPE

MARK ... Series



271www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3942 Caliper Boots & Caps Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10034 PIN BOOT 8

2 11512 RING 8

3 11510 PIN CAP Ø 57 / 40 MM 2

4 10032 PLUG MK3 2

5 10080 PLASTIC BUSH 4

6 11509 STEEL CAP 4

OEM NO 87680 7 10120 PLUG MK2 2

8 10071 O-RING MK2 2

9 11209 BOLT MK2 2

DEEP NUMBER -  3943 Caliper Boots & Caps Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10034 PIN BOOT 2

2 11510 PIN CAP Ø 57 / 40 MM 2

3 10032 PLUG MK3 2

4 11509 STEEL CAP 4

5 11209 BOLT MK2 2

6 11512 RING 2

OEM NO 89723 7 10080 PLASTIC BUSH 1

8 10120 PLUG MK2 2

9 10071 O-RING MK2 2

DEEP NUMBER -  3944 Caliper Boots & Caps Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10034 PIN BOOT 6

2 10032 PLUG MK3 1

3 10033 TAPPET BOOT 67 MM 2

OEM NO

HALDEX TYPE

MARK ... Series



272 OEM numbers names and logos just only used for references

DEEP NUMBER -  3945 Caliper Boots Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10035 TAPPET BOOT 78.5 MM 2

OEM NO

DEEP NUMBER -  3946 Caliper Boots & Caps Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10033 TAPPET BOOT 67 MM 2

OEM NO

DEEP NUMBER -  3947 Caliper Spring Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11264 SPRING 67 MM 2

2 11309 CLIPS 2

OEM NO 94665

DEEP NUMBER -  3948 Caliper Spring Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11264 SPRING 67 MM 2

OEM NO

HALDEX TYPE

MARK ... Series



273www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3949 Caliper Plugs

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10120 PLUG MK2 2

2 10071 O-RING MK2 2

3 10032 PLUG MK3 2

4 11209 BOLT MK2 2

OEM NO 87408.81658 
SAF 3434385500.3434320400

DEEP NUMBER -  3950 Caliper Caps

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11510 PIN CAP Ø 57 / 40 MM 2

OEM NO 89927

DEEP NUMBER -  3951 Caliper Adjustment Shaft

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10032 PLUG MK3 2

2 11684 ADJUSTER SHAFT 2

3 10121 SEAL 2

OEM NO 90693 / 89926

DEEP NUMBER -  3952 Caliper Shaft Sealing Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10032 PLUG MK3 2

2 10121 SEAL 2

OEM NO 89925

HALDEX TYPE

MARK ... Series



274 OEM numbers names and logos just only used for references

DEEP NUMBER -  3953 Caliper Mechanism Metal Top Cover Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11695 MECHANISM LOCKER PLATE 1

2 11684 ADJUSTER SHAFT 2

3 10121 SEAL 2

OEM NO

DEEP NUMBER -  3954 Caliper Mechanism Metal Top Cover Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11685 MECHANISM LOCKER PLATE MK3 1

2 10032 PLUG MK3 2

OEM NO

DEEP NUMBER -  3955 Caliper Pad Holder

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11694 CALIPER PAD RETAINER 1

2 11210 BOLT Ø M10 x 1.5 / 25 MM 1

OEM NO 90673

DEEP NUMBER -  3956 Caliper Pad Holder Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11694 CALIPER PAD RETAINER 1

2 11210 BOLT Ø M10 x 1.5 / 25 MM 1

3 11308 CALIPER PAD SPRING 2

OEM NO 91216

HALDEX TYPE

MARK ... Series



275www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3957 Caliper Pad Holder Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11694 CALIPER PAD RETAINER 2

2 10032 PLUG MK3 2

3 11308 CALIPER PAD SPRING 4

4 11210 BOLT Ø M10 x 1.5 / 25 MM 2

OEM NO 94659

DEEP NUMBER -  3958 Caliper Thrust Plate

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11688 TAPPET PLATE 1

2 11309 CLIPS 2

OEM NO 92731

DEEP NUMBER -  3960 Caliper Thrust Plate With Calibration Bolts

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11688 TAPPET PLATE 1

2 11309 CLIPS 2

3 11181 CALIBRATION BOLT 2

OEM NO

DEEP NUMBER -  3961 Caliper Thrust Plate & Spring Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11264 SPRING 67 MM 2

2 11688 TAPPET PLATE 1

3 11309 CLIPS 2

OEM NO 92731

HALDEX TYPE

MARK ... Series



276 OEM numbers names and logos just only used for references

DEEP NUMBER -  11181 Caliper Calibration Bolt

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  11182  Caliper Calibration Bolt Without Flange

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3964 Caliper Roller Bearing

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11289 CALIPER NEEDLE BEARING SET 2

OEM NO 89925

DEEP NUMBER -  11290 Caliper Roller Bearing

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO 87408

HALDEX TYPE

MARK ... Series



277www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3966 Caliper Roller Bearing

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11334 CALIPER ROLLER BEARING 2

OEM NO

DEEP NUMBER -  3967 Caliper Roller Bearing

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11335 CALIPER NEEDLE BEARING 2

OEM NO

DEEP NUMBER -  11392 Caliper Lever

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO 92731

DEEP NUMBER -  11393 Caliper Lever

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

HALDEX TYPE

MARK ... Series



278 OEM numbers names and logos just only used for references

DEEP NUMBER -  11691 Caliper Lever Pin

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3971 Caliper Bridge Asembly Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11703 CALIPER SHAFT HOUSING 1

2 11531 SHAFT HOUSING WASHER 2

3 11532 SHAFT HOUSING RING 2

4 11336 CALIPER SPRING 1

OEM NO

DEEP NUMBER -  3972 Caliper Bridge Asembly Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11625 SHAFT HOUSING 1

2 11211 WASHER 1

3 11337 WAY WASHER 1

4 11338 CIRCLIP 1

5 11336 SPRING 1

OEM NO 205089611

DEEP NUMBER -  3973 Caliper Circlip Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11532 SHAFT HOUSING RING 6

2 11531 SHAFT HOUSING WASHER 6

OEM NO

HALDEX TYPE

MARK ... Series



279www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  11692 Caliper Cover

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3975 Caliper Cover Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11702 CALIPER MECHANISM CAP 1

2 11205 BOLT M8 x 1.25 / 60 MM 4

3 11212 BOLT NUT 4

OEM NO

DEEP NUMBER -  3976 Caliper Cover Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11692 CALIPER CAP 1

2 11213 BOLT M8 x 1.25 / 40 MM 4

OEM NO

DEEP NUMBER -  11687 Caliper Intermediate Gear

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

HALDEX TYPE

MARK ... Series



280 OEM numbers names and logos just only used for references

DEEP NUMBER -  11686 Caliper Adjusting Mechanism

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  11689 Caliper Adjusting Mechanism Gear

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  11690 Caliper Adjusting Mechanism Gear

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  11697 Caliper Adjusting Mechanism Gear

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

HALDEX TYPE

MARK ... Series



281www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3982 Caliper Adjusting Mechanism Shaft

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3983 Caliper Adjusting Mechanism Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3984 Caliper Stabilizing Plate

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11626 CALIPER MECHANISM CLAMP 2

OEM NO

DEEP NUMBER -  3985 Caliper Stabilizing Plate

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11693 CALIPER MECHANISM CLAMP 2

OEM NO

HALDEX TYPE

MARK ... Series



282 OEM numbers names and logos just only used for references

DEEP NUMBER -  3986 Caliper Adjusting Bolt Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11177 TAPPET & CALIBRATION BOLT L 1

2 11178 TAPPET & CALIBRATION BOLT R 1

OEM NO

DEEP NUMBER - 

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER - 

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER - 

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

HALDEX TYPE

MARK ... Series


	



